MHR—2015 | hav - DONIOL‘ pqic* #ighf Reduction by Hand hav (s2s) ‘ = ‘n # (‘1 —‘q)*hav (LHA)

enter L Hc ‘ = ‘90 ° ‘— l525‘

< p: look up hav < d: declination p = hav(L+d)
LHA: Loc.IHour Angle g=n+p

L,d have:
same name L,d have:

enter d enter s2s distance ship to star, aka ZD
n: lookup hav> ‘ enter L: Latitud set: n=hav(L-d)

contr name same name

contr name

const

copy q \
(1-qgq): subtr.

copy n
hav (s2s) = sum

hav(x) = sin’(x/2)

920°

Angle x always taken to be positive.

If x > 180 subtract from 360
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enter hav (s2s)
Hc: subtr.

enter LHA look up hav(LHA) Example: 9 8 7 6 JFind product's four
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multiply (1- q ) * hav (LHA) [+ Ei 9+*1= |o|s
3 B B er2= |i]s
@@ ea- oo
=
E —.‘.i, = El 3 9*3= 2|7
5 =5 1 H s-2= 1|e
w -
H E T o 7*1= o7
L=1] S \ 4 - - E -
S 3 : s s i
- g By | 8+a3= 2|a
@
£ g &1 Bﬂ 7*2= 1]4
3
; E Camil1] [ g-1= ole
k= % | carry RPN
St E 1[2]1]s]9|
e = product = total | | | | ‘ 1219 6860
o = is the correct value
= o
% "E Butterfly Mult . xis m HE na
- ] round product
o
£%23
sE22
= el
= =
MY
-
=
L
-
=
o
-l

(L-d)is equal to the number of parallels between AP and GP.
(L+d ) is the sum of (I) the number of parallels between the equator and AP, plus

The numbers of parallels are also expressed in degrees / arc min.

_RE: Interpretation of (L-d) and (L+d)
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